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𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇 = 𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅 = 𝑁𝑟𝑟𝑟𝑟 𝑡𝑡𝑡 = 𝑖𝑖𝑖 𝑡𝑡𝑡_𝑒𝑒𝑒𝑒𝑒𝑒 = 𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎 → 𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺 ; 

𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺 = 𝑁𝑔𝑔𝑔 𝑡𝑡𝑡 =
𝑡𝑡𝑡𝑡𝑡𝑡𝑡𝑡
𝑒𝑒𝑒𝑒𝑒𝑒

�  
𝐶𝐶𝐶𝐶𝐶𝐶𝐶 𝐷𝐷

∙ 𝑁𝑟𝑟𝑟𝑟 𝑡𝑡𝑡  , 

𝐴𝑔𝑔𝑔. 𝑝𝑝 = 𝑔𝑔𝑔𝑔. 𝑓𝑓𝑓𝑓𝑓𝑓 =  𝜋𝑙2 =  𝜋 3.9 2 = 47.7836  𝑚2 ∙ 𝑠𝑠 

𝒜𝑟𝑟𝑟𝑟(𝐶𝐶𝐶) =  
𝑁𝑟𝑟𝑟𝑟(𝐶𝐶𝐶)
𝑁𝑔𝑔𝑔(𝐶𝐶𝐶)

∙ 𝐴𝑔𝑔𝑔. 𝑝𝑝  𝐶𝐶𝐶 = 𝐶𝐶𝐶 𝐸,Ω, 𝑥,𝑦 = 𝐶𝐶𝐶(𝜃,𝜙,𝑅𝑅𝑅, 𝑥,𝑦) 

Events 

MC Acceptance 

MC Efficiency 𝜀𝑀𝑀 𝐶𝐶𝐶 =
𝑁𝑟𝑟𝑟𝑟(𝐶𝐶𝐶)

𝑁𝑟𝑟𝑟𝑟(𝐵𝐵𝐵𝐵𝐵𝐵 𝐶𝐶𝐶)
= 𝜀(𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇,𝑇𝑇𝑇,𝑇𝑇𝑇,𝐸𝐸𝐸𝐸) 

Fluxes Φ𝑚𝑚𝑚𝑚 =
𝑁𝑑𝑑𝑑𝑑𝑑𝑑(𝐶𝐶𝐶)

𝒜𝑡𝑡𝑡𝑡(𝜃,𝜙,𝑅𝑅𝑅, 𝑥,𝑦) ∙ 𝜀𝑀𝑀 𝐶𝐶𝐶
∙

1
∆𝑇

∙
1

∆𝑅𝑅𝑅
 

𝒜𝑡𝑡𝑡𝑡(𝜃,𝜙,𝑅𝑅𝑅, 𝑥,𝑦) =  
𝑁𝑟𝑟𝑟𝑟(𝜃,𝜙,𝑅𝑅𝑅, 𝑥,𝑦)
𝑁𝑔𝑔𝑔(𝜃,𝜙,𝑅𝑅𝑅, 𝑥, 𝑦) ∙ 𝐴𝑔𝑔𝑔. 𝑝𝑝(𝜃,𝜙, 𝑥,𝑦) =

𝐴𝑔𝑔𝑔. 𝑝𝑝(𝜃,𝜙, 𝑥,𝑦)
𝑓𝑡𝑡𝑡𝑡(𝜃,𝜙,𝑅𝑅𝑅, 𝑥,𝑦) 

 Cuts 

𝑡𝑡𝑡𝑡𝑡𝑡𝑡𝑡
𝑒𝑒𝑒𝑒𝑒𝑒

�  
𝐶𝐶𝐶𝐶𝐶𝐶𝐶 𝐷𝐷

= 𝑓𝑡𝑡𝑡𝑡 𝑡𝑡𝑡  



𝐴𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆 < 1 

𝐴𝐴𝐴𝐴(𝑡𝑡𝑡𝑡 + 𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇 = 𝑇𝑇𝑇) ≈ 0.45 𝑚2 ∙ 𝑠𝑠 𝐴1(𝑇𝑇𝑇 + 𝑇𝑇𝑇 + 𝐼𝐼𝐼𝐼𝐼𝐼) ≈ 0.141 𝑚2 ∙ 𝑠𝑠 

𝐴2(𝑇𝑇𝑇 + 𝑇𝑇𝑇 + 𝐹𝐹𝐹𝐹𝐹𝐹𝐹) ≈ 0.04 𝑚2 ∙ 𝑠𝑠 𝐴3(𝑇𝑇𝑇 + 𝑇𝑇𝑇 + 𝐸𝐸𝐸𝐸 + 𝐹𝐹𝐹𝐹𝐹𝐹𝐹) ≈ 0.025 𝑚2 ∙ 𝑠𝑠 

Subdetectors 
Acceptances 

𝐴𝑔𝑔𝑔. 𝑝𝑝 𝜃,𝜙, 𝑥,𝑦 = 𝐴𝑔𝑔𝑔𝑔 𝜃,𝜙, 𝑥, 𝑦 = � 𝑑Ω
Ω

� 𝑑𝝈 ∙ 𝒓�  𝐹 𝛺
𝑆

= 

 𝑆 ∫ 𝑑𝜙2𝜋
0 ∫ 𝑐𝑐𝑐𝑐𝑑𝑑𝑑𝑑𝜃1

0  = 2𝜋𝑙2 ∫ 𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑑𝜃𝜋/2
0 = 𝜋𝑙2 

𝑥2 − 𝑥1 𝑦2 − 𝑦1 𝜙2 − 𝜙1
1
2 𝑐𝑐𝑐2𝜃2 − 𝑐𝑐𝑐2𝜃1  

 

𝐹 Ω = 1 ∶  𝑖𝑖𝑖𝑖𝑖𝑖𝑖𝑖𝑖 intensity 
General formula for 

one surface S telescope 

For a 2-1 bin  = 

MAX  = 

Number of Events per 
bin 𝑥 →

𝑁𝑔𝑔𝑔 𝑡𝑡𝑡

#𝑏𝑏𝑏𝑏[𝑥] 

𝑦 →
𝑁𝑔𝑔𝑔 𝑡𝑡𝑡

#𝑏𝑏𝑏𝑏[𝑦] 

𝜙 →
𝑁𝑔𝑔𝑔 𝑡𝑡𝑡

#𝑏𝑏𝑏𝑏[𝜙] 𝑅 → 𝑁𝑔𝑔𝑔 𝑡𝑡𝑡 ∙
𝐿𝐿𝐿 𝑅2

𝑅1
𝐿𝐿𝐿 𝑅𝑚𝑚𝑚

𝑅𝑚𝑚𝑚

 

𝜃 → 𝑁𝑔𝑔𝑔 𝑡𝑡𝑡 ∙ 𝑐𝑐𝑐2𝜃2 − 𝑐𝑐𝑐2𝜃1  

Distributions:
𝑅𝑅𝑅𝑅𝑅𝑅 𝑢𝑢𝑢𝑢𝑢𝑢𝑢 𝑖𝑖 𝑥, 𝑦,𝜙, 𝑐𝑐𝑐2𝜃, Log(Rig) 

AMS 


	MC, Acceptance, Efficiency
	Slide Number 2

